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[ 1√

R2+a2−2Ra cos θ
− R0/a√

R2+R4
0
/a2−2RR2

0
cos θ/a

](R > R0)

φ = 0(R ≤ R0)
(24)
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∣
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∣
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σ = −ǫ0

∂φ

∂R
|R=R0

= −Q
4π

a2 −R2
0

R0(a2 −R2
0
− 2R0a cos θ)3/2

(25)
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Q ′ =

∮

R=R0

σdS = −R0Q

a
(26)
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Q ′ =

∮

R=R0

σdS = −R0Q

a
(26)

�N¥�/�§aA>ÖoþØǑ"§��Ǒ>ÖQ ′′ = −Q ′= R0Q
a £�/¥�
"£4¤e�NØ�/§�ÀǑQ ′′©Ù3�N¡þ"Ø�/�N®Ǒ�³N§\þQ ′′ ����NǑ�³N§Q ′′ 7Lþ!©Ù3¥¡þ"ù��N¥þo>þQ ′+Q ′′ ≡ 0 £ÏǑþ!©Ù¥¡þ���N�)�>³��u3¥%�:>Ö�)�>³¤"��>Ö��´��:>Ö|½���>NX§
Ø�½Ò´��:>Ö"
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φ2= φ+ Q ′′

4πǫ0R
+

Q0

4πǫ0R
(27)
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φ2= φ+ Q ′′

4πǫ0R
+

Q0

4πǫ0R
(27)
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F =

QQ ′

4πǫ0(a − b)2
+

Q(Q0 + Q ′′)

4πǫ0a2
=

1

4πǫ0
[
QQ0

a2
− Q2R3

0 (2a
2 − R2

0 )

a3(a2 − R2
0
)2

] (28)
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F =

QQ ′

4πǫ0(a − b)2
+

Q(Q0 + Q ′′)

4πǫ0a2
=

1

4πǫ0
[
QQ0

a2
− Q2R3

0 (2a
2 − R2

0 )

a3(a2 − R2
0
)2

] (28)

�Q0 > 0§Q > 0§1��Ǒü½å§1��ǑáÚå£�Q0 �'§�Q �K�'¤"�a → R0�§F < 0§=�>Ö���>�N¥3��éC�¬Ñy�páÚ"
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






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£2¤>³©Ù










φ= Q
4πǫ0

[ 1
√

(x−a)2+(y−b)2+z2
+ 1

√

(x+a)2+(y+b)2+z2

− 1
√

(x−a)2+(y+b)2+z2
− 1

√

(x+a)2+(y−b)2+z2

x > 0,y > 0
(29)



o!º�{Þ~
£2¤>³©Ù










φ= Q
4πǫ0

[ 1
√

(x−a)2+(y−b)2+z2
+ 1

√

(x+a)2+(y+b)2+z2

− 1
√

(x−a)2+(y+b)2+z2
− 1

√

(x+a)2+(y−b)2+z2

x > 0,y > 0
(29)
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£2¤>³©Ù










φ= Q
4πǫ0

[ 1
√

(x−a)2+(y−b)2+z2
+ 1

√

(x+a)2+(y+b)2+z2

− 1
√

(x−a)2+(y+b)2+z2
− 1

√

(x+a)2+(y−b)2+z2

x > 0,y > 0
(29)

£3¤eü²¡YÆθ < π
2

Q�3θ0(< θ) ?^º�{�)�^�´�oº


